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Úlohy na cvičeńı

G1 Spočtěte následuj́ıćı integrály.

a)

∫ ∞

−∞

x sinx

x2 + 4
dx, b)

∫ ∞

0

xα

x(x2 + 3x+ 2)
dx, α ∈ (0, 1).

G2 Procvičujte poč́ıtáńı integrál̊u.

a)

∫ ∞

−∞

1

(x2 + 1)3
dx, b)

∫ ∞

−∞

cos 4x+ xe−x
2

x4 + 8x2 + 15
dx, c)

∫ 2π

0

1 + 3 sin x

1 + cos2 x
dx,

d)

∫ ∞

−∞

8 cos4 x+ sin5 x

x2 + 1
dx, e)

∫ ∞

0

√
x

x2 + 1
dx f)

∫ ∞

0

xα

x4 + 2x2 + 1
dx, α ∈ (−1, 3).

Výsledky

G1 a) e−2π, b) 1−2α−1

sin(απ) π.

G2 a) 3
8π, b)

π

30(5
√
3e−4

√
3 + 3

√
5e−4

√
5), c)

√
2π,

d) π(3 + 4e−2 + e−4), e) π√
2
, f)

{

2 α = 1,
π(1−α)
4 cos πα

2

α 6= 1.


